—probst

handling equipment

Teleskop Abziehsystem | Telescopic Screeding System
TAS-UNI

TAS-UNI-Rad
TAS-UNI wheel

TAS-UNI-Klemmverstellung
TAS-UNI terminal adjustment

Klappe/Splittabweiser
Flap / grit deflector

Klappe/Splittabweiser
Flap / grit deflector

Klappe/Splitiabweiser
Flap / grit deflector

Mitnehmer-Mutter
Tappet nut

Abstreifer
Wiper

Abstreifer
Wiper

Ringschraube
Ring bolt

Ringmutter
Ring nut

Gewindeplatte
Threaded plate

"\
-
N

/

,

.

e

S

e
Ty

Polyamid-Rad 125-40, Gleitlager 20 mm,Nabe 45 mm, Tragkraft 250 kg~ 2180.0001
Polyamide wheel 125-40, 20 mm slide bearing, 45 mm hub,
loading capacity 250 kg

TAS-UNI Klemmwerstellung, Klemmschiene, inkl. 2 Ringmuttern 4100.0157
TAS-UNI terminal adjustment, terminal rail, incl. 2 ring nuts

Klappe /Splittabweiser Links 4100.0249
Flap / grit deflector left

Klappe/Splittabweiser rechts 4100.0250
Flap / grit deflector right
Steckbolzen zu Klappe/Splittabweiser 4100.0068

Pin bolt for flap / grit deflector

Mitnehmermutter M 12 4100.0253
M 12 tappet nut

Abstreifer Links 3370.0668
Wiper left

Abstreifer Rechts 3370.0667
Wiper right

Ringschraube M 10 x 50 mit Scheibe 2008.0011

M 10 x 50 ring bolt with washer

Ringmutter M 10 mit Scheibe 2011.0006
M 10 ting nut with washer

Gewindeplatte M 10 2019.0010
Threaded plate M 10

1/2019 - 3.4



